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QUESTION 1

What happens when the abort() method is executed in the following manner? (Assume the operation is populated.)

A. This code will cause an error as the operation has already been executeD.
B. Abort can only be called from within an IDfOperationMonitor object.

C. The underlying database transaction will be rolled back.

D. The operation will attempt to undo what it did during the execution.

Correct Answer: D

QUESTION 2

What is the behavior of IDfSysObject.checkin(false, ")?

A. It saves an object in the repository, creates a new version and unlocks the object.

B. It saves an object in the repository, does NOT create a new version and unlocks the object.

C. It saves an object in the repository, creates a new version and retains the lock on theobject.

D. It saves an object in the repository, does NOT create a new version and retains the lock onthe object.

Correct Answer: A

QUESTION 3

When are the binding rules for a virtual document actually applied?
A. When the virtual document is saved

B. When IDfSysObject.asVirtualDocument() is called

C. When IDfVirtualDocumentNode.getChildCount() is called

D. When IDfVirtualDocument.getRootNode() is called

Correct Answer: C

QUESTION 4
Given the following steps: Which statement is true?
A. The object cannot be deleted in Step 3.

B. getObject method will always raise an exception.
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C. getObject method may succeed since the object may be present in the client and/or servercache.
D. getObject method will return null.

Correct Answer: C

QUESTION 5

Which statement is NOT true about the IDfVirtualDocument.removeNode() method?
A. The node is removed from the virtual document.

B. The dmr_containment object is removed from the repository.

C. The underlying selected object is removed from the repository.

D. The change is not committed until the object is checked in.

Correct Answer: C
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